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Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 42

Number of Questions to be attempted : 42

Section Marks : 100

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 5521311805
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 55213120466 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Main purpose of giving home work 1s that the students
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Options :

Remain busy at home.

s08 53 36° WP sorTRE
55213180401.

Study at home.

208 58 SO S0
55213180402.

Their progress can be enhanced.

Al at ! = ol i
(B8R DorofoSH DD
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Develop the habit of self study:.

%Lhcri, ©LraHE eIt DosrohoSERE
55213180404.

Question Number : 2 Question Id : 55213120467 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

From the list given below 1dentify the leamer characteristics which would least facilitate teach-
mng-learning system to become effective.
808 & oD eFmreD JonoGod s (DB DirhHESE® ©8 8%
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Options :
Prior experience of learner

@“‘n"*’ 0N 118 S0
55213180405.

1

Leamer's famuly lineage

OFPIHHR Henom FEIGT THE0
55213180406.

Aptitude of the learner

PR Jfre TP
55213180407.

Learner's stage of development

OIFRRN R BY
55213180408.



Question Number : 3 Question Id : 55213120468 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

On the basts of summative tests, a teacher 1s mterpreting students, performance m terms of their
wellness life style evident m behaviour. This will be called:
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Options :

Contmuous and comprehensive evaluation

¥elel-IoR AT [ REvbbilapgel=thle

552131804009.

Normn - referenced testing

Daree el E:Lﬁ
55213180410.

Criterion - referenced testing

Ceﬁw BT - 0POHE 80N
55213180411.

Formative testing

Er=ses HEF
55213180412.

Question Number : 4 Question Id : 55213120469 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



A teacher shall inculcate social and moral values among students effectively by
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Options :

Delivering lectures on values

Lenew e,-.*""'ﬂ“wc' ““*r::‘io

55213180413.
Showing TV programmes
8. D. 5"’5“ ;w:':'ﬂﬂ Sevireletalale)
55213180414.
Involving students actively in co-curricular activities
Do J;ars; SEESrE rrideEnesh Iabto
55213180415.
Observing religious festivals
SDHNBEIR Dothrien xdhdio
55213180416.

Question Number : 5 Question Id : 55213120470 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
Which of the following doesn't belong to key behaviour in effective teaching?

BoQAS® (HrrdHosiod S5 Sonofod &ire (HIEIH Josa.

Options :
55213180417.



Instructing students to copy from black board
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Instructional variety

et PO

55213180418.

Questioning

DosStio
55213180419.

Using student ideas and contribution

Do &SI 0 IO DAEFNoSEo
55213180420.

Question Number : 6 Question Id : 55213120471 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of the following research types focuses on addressmg an immediate problematic situation”
& 8ol & $0 e 850 ) s‘iéa’a:ﬁs $ode D08 BB,
Options :
Applied Research

508 HoSBES
i

55213180421.

Action Reserach

55213180422.



Experimental Research

BRFrES B0TES
55213180423.

Fundamental Research

BES DI
55213180424.

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

2
5521311806

Yes

Question Number : 7 Question Id : 55213120472 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following doesn't affect research ethics?
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Options :

Faulty research design

S OB DD DO G Skes
55213180425.

Choice of sampling techmique

2SI DYS woBs
55213180426.
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Reporting of research findings

HOSFE Do JTDoSto

Inaccurate application of statistical techniques
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55213180428.

Sub-Section Number : 3
Sub-Section Id : 5521311807
Question Shuffling Allowed : Yes

Question Number : 8 Question Id : 55213120473 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following, reporting format 1s formally prescribed?
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Options

Doctoral Ievel thesis

a’:&%*cﬁé%@ma (g0 BSS) Rpod (oo
55213180429.

Master level thesis
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55213180430.

Post-graduate level dissertation
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All the above

e
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Question Number : 9 Question Id : 55213120474 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following 1s an initial mandatory requirement to begin research?

DOFEID |FrBodosmRs SDTR0P S0othrr SFINRE 07

Options :

Developing a research design

HOSES S Srfrodiosto
55213180433.

Formulating a research question

05 G (HE Erdrofiodto
55213180434.

Deciding about the data analysis procedure

Szpod DFRee (BB Erdrotiostio
55213180435.

Formulating a research hypothesis

HOTER BoBY)He 0ot
55213180436.

Question Number : 10 Question Id : 55213120475 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following statements 15 true i the context of the testing of a hypothesis?

S08e)5e $080uwas Bl RE° O (HBARE KOO

Options :
Only the alternative hypothesis can be tested.
webRaS 205gKeh SrEh B§ouhay)
55213180437.
Only the null hypothesis can be tested.
e HOZORPORD SrED HEZ0SD5D)
o (=¥} Cov
55213180438.
Both. the alternative and the null hypotheses can be tested.
0l I83 Hodn S HoseFot BEFoWH
55213180439.
Both. the alternative and the null hypotheses cannot be tested.
so8IHS HOAL Py BoseFOD HEZ0SBIW.
55213180440. - &
Sub-Section Number : 4
Sub-Section Id : 5521311808
Question Shuffling Allowed : No

Question Id : 55213120476 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :
Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : Yes

Question Numbers : (11 to 15)

Question Label : Comprehension



This episode took place in August 1950. The Cold War was in its early stages. with the two
superpowers in eyeball-to-eyeball confrontation that threatened nuclear catastrophe. The People’s
Republic of China. which had just emerged from a bloody civil war and was seen at the time as the
Soviets’ closest ally. was prevented from taking its permanent seat in the UNSC because of
Aanerican opposition premised on Cold War logic. Furthermore. war was raging in the Korean
penminsula. with U.S. and allied troops locked 1n fierce combat with North Korean forces supported
by China and the Soviet Union.
Nehru was trying to carve a policy that ensured India’s security, strategic autonomy and state-led
industrialization in these very dangerous times. He was well aware of the tact that pushing China
out, as the U.S. wished to do. was a recipe for perpetual conflict that could engulfall of Asia. To
him. the Korean War appeared a forerunner to more such conflagrations in Asia that could even
turm nuclear. The U.S. had dropped nuclear boimbs on Japan only five years ago and many observers
believed it would not hesitate to do so again in an Asian conflict, especially since nuclear deterrence
had not yvet become a recognized reality. Nehiu did not want India to get embroiled in hazardous
Cold War conflicts and become a pawn in the superpowers’ great game risking its owmn security.
Nehru’s approach to China was dictated by real politic and not wishful thinking. He understood
that peace could not be assured in Asia without acconumnodating a potential great power like China
and providing it with its proper place in the intermational system. Moreover, China was India’s
next-door neighbour and it was essential for New Delhi to keep relations with China on an even
keel and not fall prey to the urgings of outside powers. the U.S. foremost aimong them. which were

following their own agendas that had nothing to do with Indian security interests.
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Sub questions

Question Number : 11 Question Id : 55213120477 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes

Correct Marks : 2 Wrong Marks : 0

According to the above passage. which one of the following lines is correct?
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Options :



Nehru tried to elude the Cold War clash to show his identity and become a pawn in the political
SUpIEMAcY gane.
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55213180441.

Nehrunever tried India to get mnvolved m treacherous Cold War fight because of fear of War.

ot gabo e I Apisr P68 $F 06° SR $0otd.
55213180442. .

Nehm's endeavor is to become closer with US as 1t 1s the superpower in the World and he did not
want to disturb the big counties in Cold War clash.
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Nehrunever desired India to get misky Cold War clash and become a puppet among the counties
who fight for a supremacy position.
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Question Number : 12 Question Id : 55213120478 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes

Correct Marks : 2 Wrong Marks : 0

The paragraph suggests that Jawaharlal Nahm was a

D Y, orrd) e k0ol wNirlerd e a8

Options :
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Smmer
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Great politician
o5 P8 cresfang
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55213180446.

Cowardice

D08
55213180447.

Good policy maker

s0od) Pre BRHEE
55213180448.

Question Number : 13 Question Id : 55213120479 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0

The Cold War was a period of geopolitical tension between

S8 T FIFeS Q58 oo

Options:
The Soviet Union with 1ts satellite states and London after World War IT

Botés (Do dnio &Tmd ©otid H0RE Oy AN CrdADR TR &R gk H0RS
55213180449. S @ S

The People’s Republic of China with its satellite states and the United States after the First World War

55213180450.

55213180451.



The Soviet Union with its satellite states and the United States after World War IT
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The People’s Republic of Chma and Japan with other countries and Soviet Union after World War IT
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55213180452.

Question Number : 14 Question Id : 55213120480 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

The United States detonated two nuclear weapons over the Japanese cities of Hiroshima and
Nagasaki n

20T Wl SIS e S0k e Both O ANCPORD Saehodod.
Options :
1943
55213180453.
1944
55213180454.
1945
55213180455.
1946
55213180456.

Question Number : 15 Question Id : 55213120481 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

Nehm favoured over India for permanent membership in the UN Security Council,
UN ¢ft5ee sootsDe? &8 g 80 Wduasnft\ TR0 TR o= ) NdBoTS.
Options :
11,8,
©DCse Sodns oelgpen
55213180457.
Chma
e
55213180458.
Soviet Union
DA CrddhR
55213180459.
Korea
Sgelevi
55213180460.
Sub-Section Number : 5
Sub-Section Id : 5521311809
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 55213120482 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Communication always takes place within

55008 ES Qgd)te 23%rHe0s
Options :
Two persons
2R e D
55213180461.
A context
2.8 Bosod®
55213180462. i
External only
(IO SRS
55213180463.
Internal only
Eoépér::rw?ﬂ
55213180464. '

Question Number : 17 Question Id : 55213120483 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Any effective classroom conumunication must be

SEHBHOE® & BDEHoSTS S ISR S0,
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Options:
Syllabus centric
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Student centric

XrGoél Soorr

55213180466.
Classroom centric
=085 Solore
55213180467.
Culture centric
%o 8 Sogorr
55213180468.

Question Number : 18 Question Id : 55213120484 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of these is not mandatory for effective communication?

o
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Options

Understanding

oo ToSSKo
552131804609. '

Politeness

ST S
55213180470.

Listening

Do
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Ambiguty

Lofiis
55213180472. o

Question Number : 19 Question Id : 55213120485 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of the following is correct?

800 >&S° D& JBIL?

Options :
All gestures can have same meanings in same cultures.
Domen oy $od Wed’ ot ool DA Ssotrow.
55213180473. = e i 5
All the gestures can’t have different meanings in different cultures.
Sogen o Bo¥) Hed® &8 el 500 S0k,
55213180474. -
Some gestures can have different meanings mn different cultures.
Q) Kogen DY) Kok j@eod® Tt eped DN sotran.
= bl bt .
55213180475.
Some gestures can have same meanings in different cultures.
Q) Bogen HIF) oK) Hed® o oress SDN sotrow.
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55213180476. .

Question Number : 20 Question Id : 55213120486 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match the following :
& B0l & 2858508 ¢

List-I List-II
=ee-1 =im-11
1. WhatsApp a. Mark Zuckerberg
el ess om0 5008
™ = ¢}
2. Google b. Sundar Pichai
rorred ool Doedh
3. Twitter ¢. Jan Koum
&re8 PN Ton
4. Facebook d. Jack Patrick Dorsey
o] =8 F@S &°6)
Codes:
6y
Options :
1-d. 2-b. 3-a. 4-c
55213180477.
1-a. 2-b. 3-d. 4-c
55213180478.
-c. 2-b. 3-d. 4-
55213180479, 1C- 270- 3-d. 4-a
1.b. 2-a. 3-c. 4-d
55213180480.
Sub-Section Number : 6
Sub-Section Id : 5521311810
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 55213120487 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Two taps ‘A" and ‘B’ can fill a tank 1n 20 and 30 minutes respectively. There is an
outlet °C”, If all the 3 pipes are opened, the tank will be filled in 24 minutes. The
time taken for *C" alone to empty the full tank 15 ( m minutes)
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Options:

22
55213180481.

24
55213180482.

25
55213180483.

28
55213180484.

Question Number : 22 Question Id : 55213120488 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

Geetha will reach her office 15 minutes late by walking at 4 km per hour from her
house. The next day she increases her speed by 2 kmph and reaches in time. Then
the distance from her house to office 1s ( in km)
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Options :

3
55213180485.

4
55213180486.

D
55213180487.

6
55213180488.

Question Number : 23 Question Id : 55213120489 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

23. The price of 60 articles 15 Rs. 20 each. 20 articles were sold at Rs. 24 each. To get
an overall profit of Rs. 5 per article. the price of the remaining articles be sold is.
60 S0 O e 2883 e 20 . 20 SWHen (e 2883 Er. 24 THpd
B0, 198 2.8 &r. 5, €730 SPodERE DAOY SNHeN 2.538) TR
9020900 OO

Options :

55213180489.



24.5
55213180490.

255
55213180491.

28.5
55213180492.

Question Number : 24 Question Id : 55213120490 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The average weight of 40 ttems 15 15 gm. When the weight of the basket s added
to the weight of balls. the average increased by 0.5 gm. Then the weight (in gm) of
the basket 15

40 Qo)
SB0oDSH P DED 05 M DEHHR0E. @3y 28 Tod) 28 ([FsHeS)

Options:

15

55213180493.

55213180494.



55213180495.

40
55213180496.

Question Number : 25 Question Id : 55213120491 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Missing group of letters in the following sequence 1s

nt l"'E' ] (=) W, W -
808 15006 S oD @5 T HaXTT0

QYCD: PXEF, . NVI1I], MUKL
Options :
JPRI
55213180497.
QBBIJ
55213180498.
RRMY
55213180499.
OVGH
55213180500.

Question Number : 26 Question Id : 55213120492 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



The following venn diagram represents the number of persons who know different

languages. Then the total number of persons is

800 30 D0, DG 27100 BOVS SO NOD2D APDN0D. @I P NS0

}
-

22500 00§

Options :

18425
55213180501.

18481
55213180502.

18721
55213180503.

18656
55213180504.

Question Number : 27 Question Id : 55213120493 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



The missing number 1n the sequence: 36, 31, 29, 24, 22, 17. 15,
D50 SHodd Howe 36, 31,29, 24,22, 17, 15,

Options :

13
55213180505.

12
55213180506.

11
55213180507.

10
55213180508.

Question Number : 28 Question Id : 55213120494 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

If ‘P + Q" means ‘P 1s the father of Q", ‘P # Q" means ‘P 1s the brother of Q"; ‘P -Q°

means ‘P 15 the mother of Q”, then which of the following 15 true about Ax B-C+D
'P+Q' O P Q8 #od ;' PxQ @0 'P' Q) TE) AFODC; P-Q OST P Q’
B8 3O . Iy Ax B - C +D§ [Bod 85 A Ao

Options :

B is the son of A

B, A 3% §%%
552131805009.

A 15 the uncle of C
A, C O35 23723700 / add®end

b
iy

55213180510.



B is the father of A

B. A Gw¥) $old
55213180511.

C 1s the mother of B
C. B 3B, &6
55213180512.

Question Number : 29 Question Id : 55213120495 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Statements: The average number of persons per household 15 5 m urban areas
whereas 1t 1s 7 in rural areas. The national average s 6.

TS0 ([P Posed Hfiend 25208 7508, AT oz Hien 5
500 &) &. 2 e 6.

Conclusions; I The population per unit area in the rural areas 15 higher than in the
urban areas.
S0A0:L 98 [Foare $oT) [P (Foad 1 AHFNE 2T ST &0

II. The average number of persons per household in the rural areas is less
than the urban areas.
I [P Froeee fyTo Gng) Sede Miien do9; H8m Froee &)

b T A
@é‘u;;o.‘.ﬁ‘ @08

Options :

both I and IT are true

SNVleleV 2udd
55213180513. Lepooe oy

I 1s true and IT 1s false

I 2dp 06k O &5
55213180514. 7 Y



I 1s false and II 1s true

[y NOCID IT ey
55213180515.

both I and IT are false
Ivéoy é@a
55213180516.

Question Number : 30 Question Id : 55213120496 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

M 1s brother of N. O is the father of M. P 1s brother of Q, and Q 1s daughter of N. the
relation from M to Q 1s

M, N Q%) Fd%ch; 0, MO, Sod P, Q3% &Sk SnBCk Q N T3E),
502070, M D0G Q5 do20do

Options :
Mother
55213180517.
Father
08
55213180518. ey
Uncle
o L ) R B
55213180519.
Grandson
o) e ey Cad

55213180520.



Sub-Section Number : 7
Sub-Section Id : 5521311811

Question Shuffling Allowed : No

Question Id : 55213120497 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :
Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : Yes

Question Numbers : (31 to 35)

Question Label : Comprehension



Note: The questions Q. 31 to Q. 35 are based on the following information.

Ha: (349200 Q31 b0 Q.35 SO, 808 Narardo edormr &) Q.

The total Profit and Expenditure incurred (in lakhs) by a company during the financial
years 2013-19 1s presented in the following graph. Assume that in each financial year,
Income = Profit + Expenditure

2013-19 880% H038 TS 502d IS0 erzren HBAD Py (OFOS) &

506 BrdssnS 3052800, 198 808 H0s81808, S0 = erdo + 55000

ook,
a5 s Prfil === Expenditure
)
40 38 ! 37 P
30
30 35
25 28
27
20 o
‘ YO -ul
15 18 \12/ 19
10
5
0
201314 201415 201516 201617  2017-18  2018-19
Profit & Expenditure of a Firm

Sub questions

Question Number : 31 Question Id : 55213120498 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes



Correct Marks : 2 Wrong Marks : 0

The total Income in the financial year 2016-17 (in lakhs) is
2016-17 e30¥ 0053506 JSBO 70RO (O F )

Options :

30
55213180521.

40
55213180522.

28
55213180523.

16
55213180524.

Question Number : 32 Question Id : 55213120499 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

In the year 2014-15. the percentage of expenditure incurred over the mcome 1s
2014-15 Q0N TNE, &Tr000D I Yo ) TS0 __

Options :

28.75
55213180525.

36.25
55213180526.

28.64

55213180527.



38.46
55213180528.

Question Number : 33 Question Id : 55213120500 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes

Correct Marks : 2 Wrong Marks : 0

The percentage of profit increased m 2015-16 when compared with 2013-14 1s

2013-14 & FOV, 201516 ¢S erdio____ 7eh0 DOA0HO.
Options :
12.0
55213180529.
28.57
55213180530.
40.0
55213180531.
32.35
55213180532.

Question Number : 34 Question Id : 55213120501 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0



In the six financial vears, total percentage of expenditure in the income 1s
; b — a o ¥
&3t @08 D00 TY | JNB0 BIIFON0R Bl )0 DA ) T°ed0

Options :

38.22
55213180533.

61.78
55213180534.

61.86
55213180535.

28.75
55213180536.

Question Number : 35 Question Id : 55213120502 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

In 2017-18. the total profit (in lakhs) 1s

- - = = - ol
2017-1865 D[S0 ero (@ F )

Options :
20
55213180537.
55213180538,
19

55213180539.



18

55213180540.

Sub-Section Number : 8
Sub-Section Id : 5521311812
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 55213120503 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Who mvented the high level language “C™?

83 A O S0 d5H?
Options :

Denmis M. Ritchie
55213180541.

Niklaus Writh

Qe DG
55213180542.

Seymour Papert

arD 500
55213180543.

Donald Kunth

a‘mg %o
55213180544,



Question Number : 37 Question Id : 55213120504 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

‘Which of the following 1s a serial bus

i, = £ = B S gl al l.l—-:
8ol =EE° D& VO 2R

Options :
55213180545. L

ISA
55213180546.

USB
55213180547.

GPIB
55213180548.

Question Number : 38 Question Id : 55213120505 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

What does the acronym POP stand for?

PoP &=C &30
Options :

Post Ofticed Protocol

D D8 (@b
552131805409. =



Post Office Protocol

ai=d o, = £ s=B
PR VIR FED

55213180550.
Post Oftficial Protocol
BT odhdchd DP=S
55213180551. S
Postal Office Protocol
LS ehn @‘E'é.fﬂﬁ
2 .
55213180552.

Question Number : 39 Question Id : 55213120506 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

FTP stands for
FTP o

Options :

File transport protocol

S 58 (PeFsE
55213180553. = VTS S

File transfer protocol

1:"6-
a?ﬂ

6 (2555 DS S

55213180554.

File transit protocol

55213180555.



File tracking protocol

¢ tr30R @S
55213180556.

Question Number : 40 Question Id : 55213120507 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of the following 1s UGC mutiated network of university libraries

UGC Zntien ES 420700 (forre ACI8), &2 Bod =ES° 207

Options :

mnflibnet
55213180557.

infonet
55213180558.

ermet
552131805509.

mdonet
55213180560.
Sub-Section Number : 9
Sub-Section Id : 5521311813
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 55213120508 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

An annual event that is observed on July 11® of every year is

28 JodF %o 278 113 2B ED 08 o8 Babaw

Options :
World Environment Day
BD0S Hotte R0
55213180561.
World Forest Conservation Day
BDHoS e Sobger L
55213180562.
World Population Day
(BN amrgre LHdam
55213180563.
World Food Security Day
DD0S e35BY E5e DI
55213180564.

Question Number : 42 Question Id : 55213120509 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The largest wind farm of the world 1s

IV (BBOIYH mOIFID SoEiEm

Options :

Mancelona Wind Farm
SN mORPIDH Solism

55213180565.



Ganso Wind Farm

NS mOrrh SolEsan
55213180566.

King Mountain Wind Ranch

3oh STo8R md Tron
55213180567.

Jagur Creek Wind Farm

P8 (85 mOFrrH SolBsm
55213180568.

Question Number : 43 Question Id : 55213120510 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s chief pollutant of Bhadra river in Karnataka ?

Srs6°0 Ylorsh Senhiprdd (Hors seendy o880 & (Bod =8¢ da?
= o = ]
Options :

Indraprastha power station effluent

BOlGHD HH8 DETH0d DHGSeDr Sends B
55213180569. 9 = 2

DDT from pesticide industry

1830 RHosBEE HBOIBSD ~vod) tﬁ@:ﬁ:"-:; DDT
55213180570.

Paper and pulp from Paper Industry

NS HOFD Sood Doy RS0 0ok ey
55213180571.



Fly ash and jute from jute industry

2235 T8 HOES o8 JHGeTr N0 e, esddw
55213180572. =

Question Number : 44 Question Id : 55213120511 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
Which of the following do not support soil erosion ?

=

& 8ol TRS° HB WSS FED S°)Kck?

[

Options :

Over grazing

©8MT o0
55213180573.

Shifting cultivation

oz SPBRRE D Dabéo
55213180574.

Forestation

©agen oD
55213180575.

Faulty cultivation practices

SPhzirong Ferd Dden

y g [

55213180576.

Question Number : 45 Question Id : 55213120512 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

Which is a baseless beliefregarding HIV transmission?

B0l =Q&° HIV {(EnDd egrdo ©
1 A

mo
1 Infected blood

06 P83 850
m.  HIV contaminated needles

HIV 3 Senhifo 308
iv. Mosquito

&

e

o
Options :

11
55213180577.

11 and 11
55213180578.
552131805709.
55213180580, 1Andv

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

b !
[

NRNSED &7

10
5521311814

Yes

Question Number : 46 Question Id : 55213120513 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Indira Gandhi National Open University (IGNOU) was established in the year

S0NTrPos eéas 88 & duredho (IGNOU) ~r20dy $od8)8o

Options :

November 1986

Haond - 1986
55213180581.

September 1985

'FJT';'&O::E - 1985
55213180582.

December 1987

&moob - 1987
55213180583.

December 1988

=momnG - 1988

55213180584.

Question Number : 47 Question Id : 55213120514 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following is Not a goal of hugher education in India?

el

8ol RS° EETE a8 Doy oo AR AQ?
Options :
Equuty
RerNgro

55213180585.



Relevance

TEWEO
55213180586. =
Compulsory and free education
o8 &8 Iy
55213180587.
Value based Education
Denaw ogrld A
55213180588.

Question Number : 48 Question Id : 55213120515 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Value Education stands for

DY et = endy VR i )
TR A VD mg{’ir\ﬁ__:'ﬁu;

L&)

Options :
Making students follow customs and traditions of the society
TS ol FoFETdrod dThen 00N D0E
55213180589.
Enhancing student employability
Do TEHNS %ﬂéaq_:;aa 2osroliodtio
55213180590. :

Inculcating virtues and culture to students

“m’tfgz'aﬂu 00y [odnsHR Em;éga:éﬁ penlsto

55213180591.



Making students to understand religious values

a8 JOoDOGIN VLIS LTHE) VIMPPR DrEDED

geb ) SCI0E
55213180592.

FaL
L

Question Number : 49 Question Id : 55213120516 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The grounds on which discrimimation in admission to educational institutions constitutionally not
prohibited is

APRoRE (3508 KonoGod TremorIsIN ago 89 eodo,

o

Options

Religion

vz lo)
55213180593.

Sex

oo
55213180594,

Place of birth

55213180595. =

55213180596.



Question Number : 50 Question Id : 55213120517 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Sam Pitroda served as:

= ‘o -
-

] ~ = W T B
Thew Al @ SRS SRJRTH

Options :

UGC Chamrman

DL ITEAPY TPEPY V00 BTN
55213180597.

NKC Chairman

& TBE D050 efirEen
55213180598, N

Director—NCTE

PED T T Dold ©FiHen
55213180599.

Chairman—NCERT

S Do 0T BZe B0 ofen
55213180600. :

PUBLIC ADMINISTRATION

Group Number : 2
Group Id : 552131270
Group Maximum Duration : 120

Group Minimum Duration: 120



Show Attended Group?: No

Edit Attended Group?: No

Break time: 0

Group Marks : 200

Is this Group for Examiner?: No

Examiner permission : Cant View

Show Progress Bar?: No
PUBLIC ADMINISTRATION

SectionId : 552131270

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 100

Number of Questions to be attempted : 100

Section Marks : 200

Enable Mark as Answered Mark for Review and

Clear Response: Yes

Maximum Instruction Time: 0

Sub-Section Number : 1

Sub-Section Id : 5521311815

Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 55213120518 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Who, among the following administrative thinkers, defined admunistration as "the organization and
direction of human and material resources to achieve desired ends"?

& (800 Fem S8R0 o) oI ‘6800 OFOR PHODRLHTD P Hoak F8S

ANDEH rEnstod ddboBodid” o JnNaaE?
o]

o &

Options :
L.D. White
Chd.&.3¢7
55213180601.
J. M. Pfiffner
2. 000. 2P0
55213180602.
H. A. Simon
5.9, S
55213180603.
J.A Veig
B8.2.30
55213180604.

Question Number : 52 Question Id : 55213120519 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The 'spoils system' in USA was discarded in favour of the ‘'merit principle' by the

D06’ DB DI 58D BT Err DADERE) FRODS F0 HB?

-

Options :

C1ivil Service Reform Act. 1978

208 J& e Sodses Seo, 1978
55213180605. > = 5



Pendleton Act. 1883

Dolded tﬁ&_.;r::. 1883

55213180606.

Hatch Act. 1939

58 S0, 1939
55213180607. >

Civil Service Act. 1853

208 5650 €0, 1853
55213180608. - -

Question Number : 53 Question Id : 55213120520 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

A periodical evaluation of an employee is done through

2.8 &0NY AahE sPDSore &R T R0 IFH

Options :

Job rotation

&G%1 SO
55213180609.

Performance appraisal

REER rPToER0
55213180610.

Refresher course

DVBLERSS 5K
55213180611.

55213180612.



Work guide

B SPBEG

Question Number : 54 Question Id : 55213120521 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which one of the following statements 1s/are not correct in respect of New Public Management?
(Choose the correct answer from the Code)

Bob (50 Q0 B8 AD “IrER b Agn"H Hood) 0 h? (SHE® Mok S0
RaPERRN) MD8oDan)
1 It has pro-state orientation
628 o0y PSR 5580 &3
i.  Ithas pm-nnﬂse orientation
(28 Sropin B R8P GRG0 &30
m.  Itisthe same as New Public Adnunistration

0‘\.

(08 Srds (a0 el Sremio 86
iv.  Itfocuseson peltmnmnce applalsal

30 A direm08S0p Solfsoxon

Options :

11s not correct

1 5 B0
55213180613.

1 and 111 are not correct

1 30080 111 HO=eDH
55213180614.

1 and 1v are not correct

1300050 1v S0s0h
55213180615.



1. 111 and 1v are not correct

Paho wim o g
55213180616, © Ml PO 1V RO

Question Number : 55 Question Id : 55213120522 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
Who, among the following, said that public administration includes the operations of the executive
branch of the government only ?
8o =08 oty FoSH006° [Heharo @03, PEATFE Ty T S S 2 S0ERAHY

S E ARV g

o/

Options :
L. D. White and Luther Gulick
. &. 2¢T 08w el NOE
55213180617.
L.D. White
ﬂilg- & :,a,ﬂ'
55213180618.
Luther Gulick
55213180619, S0 w0 1195
W. F. Willoughby
mtsevig ﬁca::..‘:ﬁ@:;
55213180620.

Question Number : 56 Question Id : 55213120523 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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An organization where in administrative authonty is vested ina single individual is called a

Ry = oot Tt e p o Ll
FOTLSE0 do &8 S JHG 605G

i

= 2
D Ber DS,

£

Options :
Commission
Tyt B
55213180621, ~ -
Bureau
:3?555
55213180622.
Board
&°5

55213180623. -

Council

5 55 Sotd
55213180624.
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Globalization implies
BRodssmo edre

Options :

55213180625.



Fimancial market system centered in a single state

2.5 orey0d® So|L80000aR w08 SrOn BN

55213180626.

55213180627.

55213180628.
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Growth of a single unified world market

SEED (BH0:S 0D DDA

Regulation of exports and imports
Wi, e Ddbo(@n

Foreign exchange transactions

DG4 SrBE5H e den

Correct Marks : 2 Wrong Marks : 0

Who, among the following, 1s regarded as the ‘pariah’ or untouchable among writers on public

admunistration?

Behdrom Soandd Bod FOE° 50D POUF B k) bbrr IFS?

Options :

55213180629.

55213180630.

oeJu

L.D.White
5E.8.365

Frank Goodnow
§e08 ey



Max Weber

_\_{ - — -
w.-"':'El_: Falale)

55213180631.

Dwight Waldo
aréS &t

55213180632.
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Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Match the followmg :

1808 HY 28D%DHw.

List I: Thinker List IT: Concept
SOE L $£°3¢ HQ¥ IL 5e58
1. Frank Goodnow a. Hawthorne effect
§roS &% Feeb) PO
2. Max Weber b. Legal-rational authority
S5 306 SO 0 OB
3. Abraham Maslow ¢. Politics-admumustration dichotomy
o@Fo St wabdre-ros Qrgriidnan
4. Elton Mayo d. Need hierarchy
9T DH@F oIboee (SSreond (3D
Options :
1-c. 2-b. 3-d. 4-a
55213180633.

55213180634.



1-c, 2-b. 3-a. 4-d

1-a. 2-b. 3-c. 4-d
55213180635.

2-d. 3-b. 4¢
55213180636.
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Assertion (A): Human resource management 1s the newer name for personnel management
(BBIRLS (A) : SrRD Shthe AFn dyod AEEED '8 D
Reason (R): The word ‘personnel equates 61111310} ees with other manimate factors of production
such as land and capital.

PP R): kol & Stio 6100 ¢rd, Dinnldod A0S 6618 TEF0ITH PAROC.

Options
Both (A) and (R) are correct and (R) 1s the correct explanation of (A).
(A) 0w (R) Dot ey oCdin (R). (A)DH S0FTeS H&8es
55213180637.
Both (A) and (R) are correct. but (R) 1s not the correct explanation of (A).
(A) s00aio (R) Botr e.dfp, =0 (R), (A) © J3CFE DBes 50
55213180638.
(A)1s true, but (R) 1s false.
(A) &.2p, =R (R) &3y
55213180639. =

55213180640.



(A) 1s false. but (R) 1s true.
(A) &3p, == (R) &3y
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The 'gang-plank’ refers to

‘oh &pof’ ©o
&

Options:

Coordmation

[doaraho
55213180641. =

Initiative

8
55213180642.

Equuty

o L
55213180643, 0%

Level jumping

APONE &S0
55213180644.
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Correct Marks : 2 Wrong Marks : 0

Match the following :

808 FED wsHGhD.

List I: Thinker List IT: Concept
S8 I 8638 il | RS
B =) = B
1. Rensis Likert a. Acceptance theory of authority
GRS Dég 2Rl (P 0058 Rrpodin
2. Chester]. Barnard b.  Cntique of ahistoricity of admunistrative theory
338 0.00)3 FOT ACPosiY eFOEsED DY)
3. MaryParkerFollett ~ c¢. New patterns of management
6 65 ol PES A udde
4, Dwight Waldo d. Constructive conflict
oS RS S8
— o & & w
Options :
1-c. 2-a. 3-d. 4-b
55213180645.
1-c. 2-a. 3-b. 4-d
55213180646.
1-b. 2-a. 3-c. 4-d
55213180647.
1-b, 2-d, 3-a. 4-c
55213180648.
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The 'Managerial Grid' theory is conceptualized by

“Qoeeses (BE” NTROTRY BE&ZLoDI0

Options :
Blake and White
25 o5 3¢5
55213180649.
Blake and Schnudt
25 So0cs» SpEY)
55213180650. ~
Blake and Mouton
28 Soodn STol
55213180651.
Mouton and Shophan
SR S0 FPS
55213180652.
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Who. among the following. is an odd thinker ?

8ol =0S° iriErar0s PN & T8 HH?

Options :
Rensis Likert
""'\.*—-\. D
55213180653.
Abraham Maslow

©(nso edP
55213180654. [z



Frederick Herzberg

(308 ;‘:bé 28
55213180655. '

F.W.Taylor

C *%.d@g.EBE
55213180656.

Question Number : 65 Question Id : 55213120532 Question Type : MCQ Option Shuffling : Yes
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Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which one of the following is not a hygiene' factor m Herzberg's two-factor theory of motivation ?

-

8o PAE H5nf qws) Grerss drposind® AT S 20 207
{ =}

Options :
Salary
55213180657, o °
Working conditions
HD B
55213180658. @
Company's policy
202 dpedaw
55213180659, o F

Responsibility

cFtres
55213180660. =
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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What is not true about Kautily's contributions to the statecraft in ancient India?
&S 788 B0 Traydolgr8 TEend Trrring® B30 dd?

Options :

He propounded the Ashtanga Theory

e BP0 VIPOBIND (PSFLoT
55213180661. @

He 1s also referred to as Chanakya

SBADID TEND OF DH P 90
55213180662.

His ideas are diametrically opposed to those of Machavelli

BES e JrSCNID re RO Sﬁsgéx
55213180663.

His work on ancient Indian polity has no parallel

53 oreban & N0 wADY DR 58 FEDD
55213180664.
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Henri Fayol's theory of administrative management 1s largely applicable to

TR DS @oE) o A rn drpodin GRS SLHe S8l

Options:



Worker level management

- e O . o '
520500 Fpaw DT
= L

55213180665.

Top level management

BRPow APt
55213180666. i

Middle level management

SGrRroX QYR
55213180667. . ™

Workshop level management

SENEREY SPow DB
55213180668. N % =
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The concept of the 'zone of indifference’ is associated with the theory of

'OTPRES B0G PN S Drpoding® Swddd eN0

Options :
Decision-making theory

ﬁgo::néém AP0
55213180669. *

Leadership theory

gudesvistoi bl Eub
55213180670. ""

55213180671.



Theory of Authority
Dlsi=cle] ?ocgcéi::

Motivation theory

B8 mmﬁo“"‘“
55213180672.

Question Number : 69 Question Id : 55213120536 Question Type : MCQ Option Shuffling : Yes
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Which of the following did Max Weber consider as reliable basis of authority?

(Choose the answer from the code)

o

8ot &S 5r8) J08 G LGRS NERo:

1. Personalauthority
IES edzsaw

1L, Legal-mtieml authority
£36-37 s-.ﬂJfS lmi=gloFVvy
i € lbldammatic authority
ﬁa:n*"ﬁ—bé [ TiS ey
v.  Traditional authority
RoPTdh efs=8aw
Options :
ionly
55213180673, e
iand 1
i s08aim 11
55213180674.

55213180675.

: . .
2B PO



11 and 1v

111 0w 1v

55213180676.
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Herbert A. Simon's theory of admunistration 1s based on the

[ S -

TG0 Q. DS o Jrpodin LU OprliE el
& &

Options :
Philosophic method
TeErs HES
55213180677. = £
Comparative method
é:ﬁ"‘ééé D&
55213180678. %
Historical method
TOB8 DG5S
55213180679. N

Logical-positivism

08 et EraTe i

55213180680. ™ i
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Assertion (A): New Public Adnunistration is the offshoot of First Minnowbrooke Conference.

(BHBERLRS (A) : NedS (e Srei (Hefd &S“l_m's S5raE $DSorr ErErotod
Reason (R): It 1s born our of the disenchantment with the old public admunistration that
emphasized civil service neutrality.
& (R): 208 360 sudddh FEELY P8 Hd Fed dyte il S ab
& 3

de 20200
Options:

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(A) 00w (R) Botir edfp sl (R). (A) H S0GEd Daites

55213180681.
Both (A) and (R) are correct. but (R) is not the correct explanation of (A)
(A) 00 (R) Bottr e.p, 0 (R), (A)  SCFES DB =0
55213180682.
(A)1s true. but (R) 1s false
(A) e.8p, =20 (R) 85p
55213180683.
(A)1s false. but (R) 1s true
(A) #5p, =2 (R) e
55213180684. ™ ™
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Which constitutional amendment has been described as a 'mini revision of the constitution'?

" orarrol e ‘Trernoiid) o dadn’ PARE?

Options :
The 44® Amendment
4435 U"E:"';Oﬁ e
55213180685.
The 50® Amendment
503 TR0 Rt
55213180686.
The 42 Amendment
425 Trazeroll Raites
55213180687. w
The 32™ Amendment
325 oereroll SR80
55213180688. =
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Staffing is concerned with providing and maintaining these resources in an organization.
Rapol ared & (Bol SRed voliodto, &tk dFirotio oD Kl DHHOL.

Options :
Physical resources
55213180689, * O° SNO

Technical resources

0S&ES Dnthen

EJ:'

55213180690.



Human resources

il A
P aocalineDn

55213180691.

Financial resources

DG S3%e
55213180692.
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Who controls the All India Services?
oo o8 $6:%0D) BB ATHOGFL?

Options :
Government of India

SolS | (25D &0
55213180693.

State Government

ool ;{aiae‘.u‘;m
55213180694,

Union Government and State Government

S0l 3 2EH S0 oA UDLL 3 (gheiw
55213180695. =

Union Home Miuuster

'od loll 2]
55213180696.
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Correct Marks : 2 Wrong Marks : 0

Which one of the following is not a duty of the UPSC?
8ol BS® ArdahS HYS B SRS T H§ 6 HO?

Options:
To conduct examinations for a appomtment of Public Service
Bg0&% e dabarseel D05 8 trosto
55213180697.
To advice Government on disciplinary matters
Bege dNdreD (H50ed8 ek adrto
55213180698.
To present an annual report to the President of India
oE08S g8 ADTLED BG)osto
55213180699. )
To suggest posting and transfer of Secretaries and Joint Secretaries
S8 K8y e, dodng Y ttye Porben Sodai 20OeD eSS0 Ko
55213180700.
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Who, among the following, advocated the need for psychological tests in recruitment to the civil
services in India?

800 06° A58 1PEEE06% 2DE Ko 706° SrkhE Hige e3EE 00D MIFED
o & '

Se?

Options:

55213180701. =

A D. Gorwala

2.8. 8arer
55213180702.

Harry W. Blair

""'5-*"' -""-rnn-m n_:
=S J«.#

55213180703.

V. Subramaniam

8. |zsoeero
55213180704. &
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Correct Marks : 2 Wrong Marks : 0
Which one. among the following. is not a function of the State Secretariat?
& (8ol S R SDrecho @n) DO A8 287

Options :

To assist the Minister in the formulation of policy

DTS ErH3eNe® ol SEahabodosto
55213180705.



To act as a channel of communication between one government and another

OR) Bgbore DEN B8 drtsore HADSKB0

55213180706.
To prepare drafts of legislation to be introduced in the Assembly
©R04E® 30T Indronme TETeH Erdrodosto
55213180707. '
To assist the legislature in its secretariat work
FHSIYDH ShHzrodh poecdoSEo
55213180708.
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Correct Marks : 2 Wrong Marks : 0
Which one of the following is not a British legacy to the Central Government Admunistration in
India?

ot AE° S0l [Bend: ot AR PG 0 307

] o

Options :
Deputation system in public service
g0 3 “"‘*“"“f"’ & "éﬁ DS
55213180709, o
Committee system
s H58
55213180710. o
Conduct of general elections by the Election Commission
DS SoFoo FESBE ANED) VBrerosto
55213180711.

55213180712.



Merit based selection by Public Service Conumissions

RED 8 SR~y eilesvial} DER0ES oD Ichdo

==

W“" (1
n:-f..:
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Question Number : 79 Question Id : 55213120546 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Which one of the under mentioned cases has ruled that the Parhiament can not amend Fundamental
Rights?

& (800 @6° O 5% 7r88 SUDotnD (FHDE D) 55003 efsbo B 6 fio

-

Options :

Sajjan Singh Vs. State of Rajasthan

523 hoh & E:JF«:I 2¢5 e orars
55213180713.  “ @

Keshwanand Bharti Vs. State of Kerala

SdP508 oilel) aﬁ‘*n} —\:Ieh: ©d SEY

55213180714.

Shankari Prasad Vs. Union of India

%0586 BFE SR Ol ¢ sobarr
55213180715.

Golak Nath Vs, State of Pumjab

FeoSE &89 "g &5 6D Howrd
55213180716.
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
Match the following :

8ol & adNthan.

List I: Level of List II:
administration Administrative head
ﬁ@é L @ﬂaaﬂ%m ai@é II: Sremdha
1. Village a. ChiefSecretary
[readaain Sutvgselale)
2. Municipality b. Collector
S0 OS 585%
3. District ¢. Comunissioner
2R =595 vt ]
4. State d. Secretary
m@a‘.}:& Sﬁr:.‘:-;cét:‘;
Options:
1-a, 2-b, 3-c. 4-d
55213180717.
1-d. 2-c. 3-b. 4-a
55213180718.
1-d. 2-c. 3-a. 4-b
55213180719.
1-c. 2-d. 3-b. 4-a
55213180720.
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Correct Marks : 2 Wrong Marks : 0

Which of the following were added to the Directive Principles through constitutional amendments?

8oty P86° ol KiS6me T I8 Treoriod® Somh?

1 Protection and improvement of environment and safeguarding of wildlife,
oSt HOEER, Dhrdiie SHody Sdmre S0 5w

i Right of workers to participate in management of industries.
H0ERE FOHeD S Py S

m = = PR T

i Righttowork
SRRE)

V. Protection and mamtenance of places of historic interest.

] o= o | (T . Y A
S0 Eroripdiie @owe S 0 A8

Options :

1Only

i S|
55213180721.

nandiv

1 SO 1v
55213180722.

1.11and v

1,11 s000 1v
55213180723.

1andu

1398 1
55213180724.
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Panchayati Raj system is based on the concept of

Homronsoed NP & IR OPSHE sol.

Options :
Community development
55213180725. i
Decentralization
DSol&5tes
55213180726.
Democratic decentralization
Serrnns DBo(658en
55213180727.
Deconcentration
D658
55213180728.
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Which Schedule of the Constitution of India makes a mention of the urban local self- government?

P68 Tramorof® & men i RS 80aRes 100D BRORNA?
Options :
Seventh Schedule
R Tadrren
55213180729. =

Eighth Schedule

55213180730.



Eleventh Schedule

Aniseln E&ﬂ;m

55213180731.
Twelfth Schedule
éﬁ'&ocﬁsﬁ ?.:{tﬁ?;@:
55213180732.
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Match the following :

ol TED wadth.

List I: Milestone in local government List IT: Year
s‘:gé L %&'&é (Sehesd Destron 5@% IL: Soéy8en

1. Commencement of Community Development Programme a. 1952

Rarerda)l SESo (@rBogo

2. Starting of National Extension Service b. 1953
&K JH8n D HSo @bogo

3. Lord Rippon's Resolution c. 1992
08 @08 Eommo

4. 731d Constitution Amendment Act d 1882

732 m@;@ﬁ ehilelso cﬁééo

Options :

1-a. 2-b. 3-c.4-d
55213180733.

1-d. 2-c, 3-b, 4-a
55213180734.



1-a. 2-b. 3-t. 4-¢
55213180735.

1=¢..2-d. 3-b.4-3
55213180736.
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Elections to the urban local bodies in India are conducted by the
PESEG S0k Beges APRE (DeHTeDH IYID) I o le Yl

Options :

Election Commussion of India

PS8 AYZo S0
55213180737.
Department of Municipal Administration

55213180738.

State Election Commission

[ O B A e
orR DS Joghaw

55213180739,  ©

Chief Election Officer of the State

cﬁ@g BN Y Be ozl
55213180740.
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Which Article of the Indian Constitution provides security to the office of the District Collector?

P88 remoliod® sep SB5% HUD8 B SDRY) efse 207

e ]

Options :
Article 123
elsd 123
55213180741. =
Article 301
@054 301
55213180742. =
Article 311
edsd 311
55213180743. ~
Article 352
@Qérﬁ 352
55213180744.
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Which one of the following is a function which local government institution is usually required to
perform in India?

% (Bob &S Frrrtmorr FRS [HIhE: J0% rerodSedn IO J6?
[ e & o

Options :



Sanitation

FoOHEro
55213180745. &
Higher education
S DS
55213180746. b =
Transport
ST
55213180747.
Communication
|STrTren
55213180748.
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Which one of the following is true about loan raising power of local bodies in India?

Bod &S D3 Joden Krren FoHeD o vod $onodod K5 Q7
- -

o

Options :
They can float loans on their own

© T8 vgo DB e FPoUHIY)
55213180749. -

They cannot raise any loan

©d derod Soren SRo% Den BH
55213180750.

They can raise loans with the approval of central government

©d 3ol (H5HS ©DIES® Crrren ol
55213180751.



They can raise loans with the approval of state government

© T (K508 ©DEE tirren FPoLHI)
55213180752.
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Institutions of local government are found

R (H5hd; vogen &SOG0
[}

Options :
In democratic countries only
Gepeos Teed® SEER
55213180753.
In democratic countries with parliamentary system of government only
FoDowl B85 (Hhdo &) Brarns Beod® SrED
55213180754.
In democratic countries with federal system of government only
Sy NP e (Berd s Geed® SeED
55213180755.
In almost all the countries of the world
s o) (@loS Beed® eotro
55213180756.
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Which of the followmng are true about the consitution of local government in India?
(Choose the correct answer from the code)

FEEGE08 RS (Hedame hlof) OO e.gp? (8 ool KB KrgrRdnd Bood)
i.  Theyare Sovereign
0 FOFTHE0 red

1. Thereare selt-created
o drdb "r\.&&@u

111. Theue are creations of central or state governments
©d Soltf T3 ol (oo m‘-igoai::&&

iv. There are free to raise loans on their own
O anGT erey o)

Options :

1 and 11

1 306 11
55213180757.

1and 111

1 08 m
55213180758.

11, 111 and 1

11, 111 3085 1v
55213180759.

i1 Only

i SeED
55213180760.
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The theory of "Prismatic Society' in Public Administration is based on the
D5hE: FOISD ‘PBUEGAS S ’ Rrpodin ED wrrdHd ol

Options :

Study of public services in developed and developing countries

ef f.\ba o8 anddin o daﬂa} 050 8 ’”‘"*"n.ae_; Clnifesialel
55213180761.

Comparison of mstitutions of public admunistration in the First World countries

B (HHos T D508 n.c'*‘ﬂ* HOTES 50845
55213180762.

Structural-functional analysis of public adnunistration in developing countries

0L &) Te (©BHE; Fod @) AYB8-Dhe JFIHD

55213180763.

Historical studies of public administration in different societies

DD el ok (HeHd: o @wE) TOEE vfchTed
55213180764. -
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Bureaucracy. that is devoted to the programmers of the political party in power, 1s called

eOzzod’ éé&cﬂaéoﬁaﬁg %) FHEIPOD 088 gr0 SONN STNIPR) e Hendd.

Options:
Depoliticized bureaucracy

ceadah 08I &6%N Fensran
55213180765.

55213180766.



Guardian bureaucracy

Ho85E &85 S
bty L= (=%} T

Commuitted bureaucracy

Qod &Eh JensigEm
55213180767. ? =

Patrimonial bureaucracy

SIS EC?;F. oo
55213180768.
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Which of the following pairs are not correctly matched?

(Answer by choosing the correct code)

8ol &S° 2D BOr zdend Bd? (REED FHD oHEFR Sargrisndain)

1 New Public Administration - Dwight Waldo
PSS Bedred - 3 >

i Comparative Public Administration - Fred W. Riggs
HoTds [Sehdarod - BE sy OF)

i.  Development Administration - Edward Weidner
5018 &rod - 258 D)5

v.  Adnunistrative De:’elopmeut - Robert Dahl

&@mfﬁ-s@% - waf od

Options:

1 Only

1 SmED
55213180769.



ii Only

i S

55213180770.

1, nand i

1, i1, s00d%n 11
55213180771.

1v Only

1V 5830
55213180772.
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Which one of the following 1s described as anti-theoretic and anti-positivist?

S0l T&HE TRQ hrod é}fjacé_@a"& 080k RRE mgm o 0r8?
] ]

Options:
New Public Administration

SRES (HhE: o
55213180773. -

Development Adnunistration

o -
SiSaen

55213180774.

Comparative Public Administration

SoTed)s '@*:&e‘.‘i; ol P
55213180775. =



Human Relations Theory

3

s s
a0l

RODOTPY) AP0
55213180776. >
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The term 'Development Adnunistration' is comed by

TR ey el i Ty
Sri8Freld oI o) §RoAIL

Options :
Edward Weidner
A8 H5G
55213180777. -
Fred W. Riggs
@& Sz CFy)
55213180778.
John Montgomery
S S0
55213180779. &
Goswami
0
55213180780. =

Question Number : 96 Question Id : 55213120563 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

According to Fred W. Riggs, the trends in Comparative Public Administration are a change from:
(Choose correct answer from the code)

@6 oy OF) B=bo deomres ([Heh: ot ) G & & el () Dm0,
ruu N B0 Qo darpraan Cld"f.-.‘b]
1 Empirical tonormative
ONYPGTLE ok Direrd B8
i Nomothetic to ideographic
R\ DRArE 38 ook D5DH & 585
. Non-ecological to ecological
(Srome) $050658 $H08 (Frome) $058 E‘ﬁm%&
. Ecological to non-ecological
(Fromr) HON8 e)cyale 208 (o) 505088 E’béﬁﬁ

Options :

1. 11 and 11

1, 11 30005 111
55213180781.

1 and

S0 111

55213180782.

L.1iand v

1 100 Iv
55213180783.

11 Only

111 m@ﬁ&:
55213180784.
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The ecological approach in the study of Public Administration was mitiated (in the order) by

208 FomirdiNod® Fome HBXE Honog SETR @3313’1@“13:*64 (S%%m)

Options :

Robert Dahl and John M. Gaus

mmg e DO PR OO, PR
55213180785.

F. W. Riggs and John M. Gaus

dRR. 5o, Oy o0k 2S ado. R
55213180786.

John M.Gaus and Robert Dahl

s 000, MR 000D D“ZE-: il
55213180787.

John M. Gaus and F. W. Riggs

aa Cho. PR hCdin cRR. ey Of)
55213180788. -
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Which of the following approaches to the study of public administration cover much common
ground?
(Choose correct answer from the code)
ot (Gepd; e edko GXmed® 38 i S Pixo sob? (FHe HO@E
RNarerae) 080i)

i Comparative Public Administration and Scientific Management

oS (HepdaroR 000 FRA P
1. Comparative Public Administration and Decision Making Theory

SeTds (B dred DOk Aorrsin Merodin

B

i Developmentadministration and Classical Theory
BridareR HOdn dobmedh oo

V. Comparative Public Administration. Ecological Approach and Development administration
SeFds Hehdrares, o H088 Jonol 56D hoaty e O

=

Options :

1 Only

1 S50
55213180789.

11 Only

11 3|80
55213180790.

11 Only

il S
55213180791.

1v Only

1V S| &

55213180792.
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Assertion (A): Comparative Public administration has widened the scope of study of Public
administration
(PaRES (A): SoTES (HeHS a0 (B0 sPor eifahdo Gg) D000 JX0OINC.
Reason (R): It shiﬂedthe focus of administrative smthesﬁmllﬂmd‘»‘»olldt ountries exchusively
to First World Countries countries
&9 (R): a0 d G0 e &b Bod Sre Somiiohio Hof (5 (@os

o
050 PoPEdimds SeD00
o

e

Options
Both (A) and (R) are correct and (R) 1s the correct explanation of (A).
(A) S0 (R) Botse 2.y HOam (R), (A) H SO@S D56
55213180793.
Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(A) SoCae (R) Botir eddp, =0 (R), (A) £ J0@E@E D38es =t
55213180794.
(A)1s true, but (R) 1s false.
(A) ey, =22 (R) 85p
55213180795.
(A)1s false. but (R) 1s true.
(A) 85p, =20 (R) &p
55213180796.
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The Comptroller and Auditor General of Tndia submit three reports to the Parliament. Which one
of the following reports does not come under that category?

68 sofeth-slon slite SDotd Srth 505w SHOFD. ($od AT0ud &
"

Oy el
Srlodst B30 207

Options :
Audit Report on Finance Accounts
2R o0 B 6l AT0E
55213180797. )
Audit Report on Appropriation Accounts
OEPRDES oT oD vl IRAS
55213180798.
Audit Report on Capital Accounts
oS o5 0D sl TS
55213180799.
Audit Report on Commercial and Public undertakings
eehey DoPen SO [HhEBor Joge ©iel DFOE
55213180800. = )
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Which one of the following is not a characteristic of a government company?'

808 B 28 (H3hd: 50D oFpaD SD?

Options :
It has an audit board of its own

£98 85 Srod vl T soenod
55213180801. & &



It 1s a body corporate

28 B Gen TErDe &00
55213180802. 2

It1s owned by the State

&9 dHesrd (HghE o
55213180803. d

Its employees are not civil servants

&R &&Den 1S $T oty D
55213180804. '
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Which one of the following principles could be dispensed with without much disadvantage to
strengthen financial admumnistration?

]
o

LG

ol $8odae DY Jfo Seurfd difore Bod G @ Ackhird) Sthensabdy?

Options:
Responsibility Principle

PEEe A0
55213180805.

Accountability Principle

ssroomrs DoHhsw
55213180806.

Control Principle

Qoo QaisEn
55213180807.

55213180808.



Expansion Principle

D0 DT
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The New Economic Policy of Government of India has

.
L

o wh, ik e T
G (D&Y “JrED 603 deENsw

Options :
Promoted Protectionism
Sgee ) wodoh
55213180809.
Limited the competition
D shodod
55213180810. &
Promoted Globalization
5%0dH58e:D ool
55213180811.
Increased glocalization
TEBEETD Dodol
55213180812.
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Who appoints the Chairman and Members of Finance Commuission?
2o5) SRS ©FHY) HOA BeHeDH IS5 DXHFLL:?

Chairman of Rajya Sabha

o=mg S Twicvlad
55213180813. o

President of India

TS THHS
55213180814, b5

Finance Minister

DEools
55213180815.

Union Finance Secretary

SO DE TBEY
55213180816. T
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Which of the following is not a public enterprise?

Bob EE® (Hghd: Sors NeLY 50067

Options :
Public corporation

-
HE8 SONBED

55213180817.

Departmental undertaking

A &B(E50
55213180818.



Government aided voluntary organization

Bghsr SFBcho Srod Rrefols Ko
552131808109. 2 *: H

Government company

(D0 BoDd
55213180820. -
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‘Which one of the following is the function of the Finance Commission?

Bob O DR SDHRT Y d?

Options :
Preparation of the Central Budget
So(&0Ben SrH5eNd
55213180821. - .
Assessing income-tax precedes
STPOHHRD) T°B voae Fasne
55213180822.
Determuining the principles govermng grants-in-aid to States
CEoD 537) SHADE (oD Yonofods dabire Jos
55213180823. . o

Exercising control over government expenditure

(Bgher oD Dabolses
55213180824. i

£
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Which one of the following 1s not the disadvantage of a Line-Item Budget?

ot &S T-wd o§d 6%hkn B8 SPn =0 Q02

Options :

It does not help long-term planning

30 E8=2D3 (Her@58mH SSTPHBEE
55213180825. -

It does not relate to physical targets

al a8 t:nqg;é: 2002080 500 sotith
55213180826. )

It encourages unhealthy competition for funds

20 DHeH Fowofod oS ITSEDS PED (B8R0
55213180827.

It provides for control of expenditure

30 pEED VADoERD adTENDDEoL
55213180828. e
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Which one of the following is a common objective of the 'Rule of Lapse', 'Sunset Legislation' and
'Zero-Based Budgeting'?

'BY(EDN Afoties’, WrorRihch R0 Spbakn ‘Erarerd ofdorh’o Gng) e*"mé& OED 207
-1

Options:



Economy in expenditure

Srasos® SrthD
55213180829. *~

Legislative control

WIT YN . 5
55213180830, ° T % DOboEE

Review and reauthorization of expenditure

Sraho J0G, HIT TGS
55213180831. 2 &s

Ensuring achievement of physical targets

TS ogre P Den 5D 050
55213180832. = i
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Which Commuttee of the Parliament examines the Audit Report of the Comptroller and Auditor
General of India?

2 FgRotd 508 grod Sofol - edon et eld HT05% $080%007?

Options:
Estimates Commuttee

] o v e e
55213180833, SO=TTE 00

Committee on Public Undertakings

|Pghes ol Sozie Bozhaw
55213180834. o3 @

Assurance Committee

e Soosn
55213180835. = we



Public Accounts Commuittee

1Sehgr prare Soghain
55213180836. =
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Assertion(A): There are reservations in public services in favour of Scheduled Castes in India

B8R (A) : T Heren 508D dnoth DFHD oo Srwore D8I RBm.

Reason (R):  These reservations are justified on the basis of discrimination suffered by the
Scheduled Castes in the past.

-

%Y (R): oEhdd’ wirw Hered [HehshEHmos® 0atiER eTmon.

Options:
Both (A) and (R) are correct and (R) is the correct explanation of (A).
(A) 00 (R) Botir eddp 0o (R). (A) S0 Daides
55213180837.
Both (A) and (R) are correct. but (R) 1s not the correct explanation of (A).
(A) 08w (R) Boir a3y, =00 (R), (A) 5 R0@S Hbes =t
55213180838. o
(A) 1s true. but (R) 1s false.
(A) &.2p, =0 (R) 83p
55213180839.

(A) 1s false, but (R) 1s true

(A) 859, =20 (R) a.87p
55213180840. ) &) By
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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The Pradhan Mantr1 MUDRA Yojana was launched in

BerRool@ snErd@rai o Sod8)80 (@Eofomrtn?

Options :

2011
55213180841.

2013
55213180842.

2014
55213180843.

2015
55213180844.

Question Number : 112 Question Id : 55213120579 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which type of insurance is provided by the Pradhan Mantri Suraksha BimaYojana?

"~ -

wh s 0y whe il - T oy o T

SerRihold DYz Jard@res « 85308 Lard D07
b, [ o e
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Options :
Life insurance
E08 LS
55213180845.

55213180846.



Property insurance

Boo.
S o
G —

Crop mnsurance

Dotzem Lo
o

55213180847.

Accident Insurance

Darere e
55213180848.

Question Number : 113 Question Id : 55213120580 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Which Prime Mimster of India launched the National Rural Health Mission?
péah (Pt e DATD O Prro® EITEPL?
Options :

Atal Behar1Vajapayee

ood 2556 ;edow
55213180849.

Rajiv Gandhi

oS ok
55213180850.

Manmohan Singh

55213180851.

Narendra Modi

SBos I
55213180852.



Question Number : 114 Question Id : 55213120581 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

'Chipko' movement is associated with

EALe étﬁ;ﬁo a8 JonofodNk?

Options :
Human rights
L G I S
55213180853, 0% =G0
Women welfare
So2pEe BoSho
55213180854, .
Religious activities
08 Jonod HRTEren
55213180855.
Environmental conservation
SRt H0BS
55213180856. t -

Question Number : 115 Question Id : 55213120582 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
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Correct Marks : 2 Wrong Marks : 0



Removal of poverty was stated as the dominant objective in which of the following Five Year Plan
in [ndia?

2050 AP Heed eFore DF)R) Hodiy, (Herds oh?

& [

Options :

Third Five Year Plan

S0t5S HoLRY, (HeBS
55213180857. ;

Fourth Five Year Plan

Peuria) VoY, (Hegs
55213180858.

Fifth Five Year Plan

©ORED DoAY, (Herds
55213180859. &

Sixth Five Year Plan

e85 Doy, |PDezeEs
55213180860.

Question Number : 116 Question Id : 55213120583 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 2 Wrong Marks : 0

The founder of "Brahma Sama;j" is

il oy Ty B v
@) SR PHoDIO 258?

Options :
Raja Ram Mohan Roy

OPL® DRaD ararl TodD
55213180861.



Davananda Saraswati

™ S "

55213180862, O VR RORE

Swami Vivekanada

e DISeH0E
55213180863.

Easwar Chandra Vidyasagar

S8 Solf DwEpreiid
55213180864. =

Question Number : 117 Question Id : 55213120584 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Correct Marks : 2 Wrong Marks : 0

Which one of the following 1s not a Public Policy Model?

Bob T&S® (K308 IS ST A0 0?

Options :

Loalism

Drodah sRGEw
55213180865.

Institutionalism

e sPEED
55213180866, -

Elitisim

%?’.ga. TG0
55213180867.

Increamentalism

(B H0crad a=Eiadn
55213180868.



Question Number : 118 Question Id : 55213120585 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
What was the objective of Sarva Shiksha Abhiyan (SSA) launched in the IX Five Year Plan?

S Sousy, (HerfSe® @rEodods $6 e ool Mg oo 267

Options :
Bridge all the gender and social gaps in education.
DES® DONBEIN SO Fres I oY) Fenosto
55213180869. -
Universalize elementary education.
(DB 08 DS D) o HESBe
55213180870. o = o
Provide education for all.
@008 DErdobodto
55213180871. =
Provide education for the weaker sections.
oA SIvry JTeH dgRolostio
55213180872.
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Correct Marks : 2 Wrong Marks : 0



The Model of Social Work practice which s at present receiving increasing emphasis m India is the
55D 408 585D Foodt (G580 BrothdR) Mo e (9kdn) Sdrw 207

Options :
Reliefmodel
@E' Seinmrm
55213180873.
Clinical model
825d S
55213180874.
Human rights model
PN PR JrEar
55213180875, i
Sustainable development model
E"*d SIAL RNV
55213180876. s

Question Number : 120 Question Id : 55213120587 Question Type : MCQ Option Shuffling : Yes
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Assertion (A): Cormuption is the cause of poverty and underdevelopment.
BEBFES (A) pEEGIE” DEOTRS, 040 Toirezdd DELZ0 o
Reason (R): Poor are corrupt and underdeveloped.
%59 (R) : 260 0208550 HOAD 1508578,

Options :

Both (A) and (R) are correct and (R) 1s the correct explanatiml of (A).

(A) 300ci» (R) Sodr e.sdp w0cin (R). (A) 5 [5G0 D3Bes
55213180877.



Both (A) and (R) are correct. but (R) 1s not the correct explanation of (A).
(A) 8aw (R) Botie e.dp, =20 (R), (A) 5 S0@HR DBes =00

55213180878.
(A)1s true, but (R) 1s false.
=2 (R) &0
55213180879. ) e } o
(A)1s false. but (R) is true.
(A) 85p, 0 (R) adp
55213180880.

Question Number : 121 Question Id : 55213120588 Question Type : MCQ Option Shuffling : Yes
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Which one of the following i not a category of political parties?

s

808 TSt oralan o Ssod® B H0?

Options :
National Parties
030800 é}'ﬂgu
55213180881.
Sovereign parties
e iy i‘:bgau
55213180882.
State Parties
ool Seben
55213180883. € e

Registered parties

STt Pl rfen
55213180884,



Question Number : 122 Question Id : 55213120589 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
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A major criticism of interest groups is that they

B dorem ool e (Bers DY) DIVNT ©)

Options :
Result in greater influence for some groups than others. whether or not they are widely
popular.
€08 (ertonso =8 Hanii 88 =OETY) 588 (B oo S8 Q) Eeriddes
YT,
55213180885.
Invariably advocate policies which would lead to higher public expenditure.
29 JLPEP (HeHE 0 Fcho DOT e Shoiron.
55213180886.
Invariably seek media attention through sensational tactics.
2D JYpEr HBFEES o dKed (BIrE SrgEre GnE) HR0 e85
55213180887.
Are always domunated by people with extreme views,
©D IHPEF BIXDS raren HONS 0 DEI0S® sotrom.
55213180888. 2

Question Number : 123 Question Id : 55213120590 Question Type : MCQ Option Shuffling : Yes
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During which part of the public policy cycle does the govemment explore potential policy responses?
(508 PR S06% & 46 (Bghdro morh TPED DR ([H8J)0Nend 19008 & E00?

Options :

Agenda Setting

JEom Aoedes
55213180889. ®

Policy Formulation

DR BrIse)d
55213180890.

Policy Implementation

QTP @aDew
55213180891.

Decision- Making

elevrpitela)
55213180892. %

Question Number : 124 Question Id : 55213120591 Question Type : MCQ Option Shuffling : Yes
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Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

When a relevant mumister holds a news conference to announce the government's mtent to introduce
anew policy. what 1s 1t known as?

&5 donofd o &8 (F'¢ AP SIS0 (Hed%o @ng) s3D BevYtd JoethHe

M "“:'.'a Flolg %DL\.WQ“ AT @mﬁw

Options :

Decision-making

Ky elovsii=lelan)
55213180893. =



Policy Evaluation

DR BrISL)R
55213180894.

Policy Implementation

DR @30ew
55213180895.

Policy Change

DTPR AE)
55213180896.

Question Number : 125 Question Id : 55213120592 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 2 Wrong Marks : 0

The first step in the policy process model is

"

SR (BB JFurarE®D Jniid othrdd 2R DHenrrpdh?

Options :
Policy formulation
AP Brdse s
55213180897. -
Agenda setting
QEor Do
55213180898. i
Policy implementation
QTR ©aDEn
55213180899.

Policy evaluation

DEPR DPTOSNO

55213180900.



Question Number : 126 Question Id : 55213120593 Question Type : MCQ Option Shuffling : Yes
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1s one way to use pllblic poli-::'i.-’ to lower inflation.

(2208 dorar) (BT s‘.’ar 10088 ed3@EN0D &8 P pm

Options :
Increasing Income Tax rates

. TR R L
BTPADR) D) B0 00 JCham

55213180901.

Decreasing interest rates

”_ae:, > SNoSESW

55213180902. ~ £

Standardizing interest raets

5888 (Seardssnsm
55213180903. ~

Standardizing Income Tax rates

STPIDY) H30E ([Dsrdstensn
55213180904. i

Question Number : 127 Question Id : 55213120594 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 2 Wrong Marks : 0



Which theory or model of public policy claims that "Public policies are seldom new, they are
generally a continuation of the old policies"?

- |
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Options :
Institutionalisim
HOV® LW
55213180905. =
Elite Theory
%@@ TFOSE0
55213180906. N

Increamentalism

(Bao H0ead a0
55213180907.

Game The-:n}-'

oém

1._)!

[ts
55213180908.

Question Number : 128 Question Id : 55213120595 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 2 Wrong Marks : 0

Public policy 1s a common area of study of two social science disciplines. They are
($508 Deprsin Both PEres P(TOD sk ©idhl ©odo. © Bold 27

Options :

Psychology and Ethics
SR Tgaw, A8 FEw
552131809009.

55213180910.



Politics and Public adiministration

T ot = o
or2d8 TPQW, (D308 reE TPaw
=

Anthropology and Geography

PSS TGEW, PePY I
55213180911.

History and Geography

o b mBad e
55213180012, SO, Y e

Question Number : 129 Question Id : 55213120596 Question Type : MCQ Option Shuffling : Yes
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The objective of Citizen Charter 1s

T8 TEe DHiGo @) oFto

Options :
Making administration continuous
SmeySdy 2 ey T Amm
55213180913 PO NSodsTeCho JCiné
Making admmistration confidential
oSS wossonso JAine
55213180914.
Makmg administration people friendly
o (Here odirbo Jdhoe
55213180915.

Transformation of administration

PO g
55213180916.
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Assertion (A): The decades old Planning Commission has been replaced by the NITI Aayog.

@8RS (A towpe S08 So Fero Sofo ol 38 w@reh JoTedin

Reason (R): The objective of NITTAayog s the promolion of directive planning

#&3) (R): 98 o@Rf oo Ted)s Herlstnd @28 rodto
[ & Y

Options :
Both (A) and (R) are correct and (R) 1s the correct explanation of (A).
(A) 00w (R) Botir eldy 00aio (R). (A) 0 J0ES Dides
55213180917.
Both (A) and (R) are correct. but (R) is not the correct explanation of (A).
A) oo ( ® 2.9, 2R (R), OGN Dabes o
55213180918, (A) o005 (R) Bodr ey, (R), (A) 5 2e&@ 3669 SoLH
(A)1s true. but (R) is false.
55213180019, 4% &8P, TR (R) &5y
(A) 1s false, but (R) 1s true.
55213180020, Y B SR (R) ey
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The oldest form of public enterprises is

(B30 Bor éogué’g o08508 S0

Options :
Public Corporation
ijéﬁ E-:.Eﬂ*-.d"’:\ -
55213180921.
Government Company
s 5ond
55213180022, T oo
Operating Contract
s5080f Solers)
55213180923. =
Departmental Undertaking
FHAH &HB0
55213180924.

Question Number : 132 Question Id : 55213120599 Question Type : MCQ Option Shuffling : Yes
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The primary stakeholders of a public organization are:
.8 (@508 DoY) (@rEdns "QE TEred) €5 oditrd) J5%?

Options :
Consumers

A enbiiatmilesl )
55213180925.

Public servants

(HHE G rrden
55213180926. il



Citizens

arsen
55213180927.

Political executives

oo '='=-<:’> Gﬂ*“"ﬂ_a&
55213180928.

Question Number : 133 Question Id : 55213120600 Question Type : MCQ Option Shuffling : Yes
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The mternal audit function is least effective when the Organisation
©oBES ¢ ofén DO JHpH S8ND e:‘:a,o B0 &0enod?

Options :

Is non-independent

55213180929.

55213180930. -

Is objective

sﬁgé Ramore eddpd
55213180931.

Exlubits integrity

5058 Hadodorr SNDPE

L

'D

55213180932.
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Right to Information Act was enacted in the year

STl PR SepR) @ 058)506° ErErolomrd:?

Options:

2000
55213180933.

2005
55213180934.

2006
55213180935.

2014
55213180936.

Question Number : 135 Question Id : 55213120602 Question Type : MCQ Option Shuffling : Yes
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What 1s not true about civil society organizations ?

S B Hge H00D Bol TBE O By?

Options :
They are sovereign bodies

o O T D ‘ef:otg@:
55213180937.

55213180938.



They are voluntary but nonprofit-making agencies

O & cﬁo OND, RGP ‘;:g@ 0

They work in close proximity with people

o Puod IYrdorr HITTow
55213180939.

They create awareness among people and act as catalysts of social change

o [Paeod® JETY) 50NN FEraEs SrED s@)8Sorr HTFo

55213180940.
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Which one among the following is not considered as part of the Civil Society?

Bol =B TIQ Y S0t grifore $0KBoST?

Options:
Non-Government Organisations
D038 Hoden
e -
55213180941.
Caste associations
e SoPren
55213180942.
Legislature
55213180943.

55213180944.
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Question Number : 137 Question Id : 55213120604 Question Type : MCQ Option Shuffling : Yes
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Which one of the following States is relatively most urbanized?

B0l +ES edbsorr SriCste Fola oogaw 207
L=

Options :
Andhra Pradesh
So(BHEE
55213180945,
Tanul Nadu
BN
55213180946.
Maharashtra
ﬁﬁm@
55213180947.
Odisha
c,&.ﬁﬂ
55213180948.

Question Number : 138 Question Id : 55213120605 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 2 Wrong Marks : 0

Which one of the following 1s called the Fourth Estate?

8ol &S° ‘PT IRT ©d G woirh?

Options :
Legislature
TRRTR
55213180949.
Judiciary
T TR
55213180950.
Executive
E AT TE T
55213180951.
The Press
3| &= Borio
55213180952.

Question Number : 139 Question Id : 55213120606 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 2 Wrong Marks : 0
Which of the following are the main tools of fiscal policy?
8ol A (B3 DFEIo @) ey FFII0ED DD?
Options :

Taxation and Investment

&@aaa Euhcatﬁju
55213180953.



Taxation and Capital Investment

2RNEN, POEN enothen
55213180954, = .

Spendmg and Investment

é;cxfo:n. énoten
55213180955.

Taxation and Public Spending

Dy ew, (He oo
55213180956.
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Assertion (A): Right to Information Act 1s helpful for democratizing information.

B8 (A) Srerod) La&w#;&:;é&oﬁ&:& Rarepd SRy ko eS@REdo

Reason (R): The Central and State Information Commussions are meant to ensure that the press
and media get the mformation they need.

o]

) (A) So, oo Kekeep S PESctme 08 Seds Hiripto wolohid

08050859,
[w

Options :

Both (A) and (R) are correct and (R) 1s the correct explanation of (A).

(A) 00w (R) Boter effp a0lain (R). (A) S BCEo e
55213180957.

Both (A) and (R) are correct, but (R) 1s not the correct explanation of (A).

(A) S00ce (R) Boir 289 520 (R), (A) % B0@ow D38 s
55213180958. W

(A)1s true. but (R) 1s false.

(A) &.38p, =20 (R) 833p
55213180959.



(A) 1s false, but (R) 1s true.

(A) €850, =0 (R) .3y
55213180960. = ™
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The question which, by its content structure or wordings. leads the respondent in the respondent
direction of a certamn answer is called

Sgw o8 @), o0 o7)ee0 DR, duro GPolE g eR, M)ouHY
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Options:
Factual question
OB B
55213180961, i
Opinion question
©d)EPabs) @)
55213180962.
Leading question
DA0M ($&
55213180963. o
Structured question
n.-u N I,_Eu d
55213180964.

Question Number : 142 Question Id : 55213120609 Question Type : MCQ Option Shuffling : Yes
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Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Scientificn 1&?110(1 1s committed to

=R H58 528 Sepob sotnol?
-
Options:
Objectivity
SHBEH
55213180965.
Ethics
FalEletalsy
55213180966.
Proposition
EStZEplninlst
55213180967.
Neutrality
BeRED
55213180968.

Question Number : 143 Question Id : 55213120610 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

"Reasoning from general to particular "is called

o

SRS DR Dok (P8 Ncho I N TPHRFEID @ S HeoRr?

-,
n
o

Options :
55213180969.



Induction

BolsR
[=*]

Deduction
wlntshs

55213180970. :
Observation
H0LeD

55213180971.
Empiricism
%ﬂ%é’;@tﬁa‘l‘a

55213180972.

Question Number : 144 Question Id : 55213120611 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Bibliography means

HLTFNS o3rr

Options:
List of foot notes
S drdde i
55213180973.
List of quotations
&éos5ne i
55213180974.

55213180975.



List of books

Bone seiioe

List of text books

8 Y¥re loe
55213180976.

Question Number : 145 Question Id : 55213120612 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

ocial Sciences deal with

FEras wiRren 368 Donofod eotron?

Options :

Objects
55213180977.

Human beings

Ardayen
55213180978.

Living beings

(&Pea0en
55213180979.

Crvilised human beings
55213180980, 0% SFRRE

Question Number : 146 Question Id : 55213120613 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Research conducted to find solution for an immediate problem is called

&8 85 B BoWo BeneS NS TR H0TEHD Y Herptn?
Options :

Fundamental Research

Lg%"‘tﬁ.:ﬂ-.a 20d le.‘u

55213180981.

Analytical Research

DL gaﬁeme.e 5 H035S
55213180982.

Survey Research

n.eC"‘ c\.au’gu(:aw
55213180983.

Action Research

t:sn“é =5 5048 cﬂm

55213180984.

Question Number : 147 Question Id : 55213120614 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

A research study carried out to identify causes and possible solution to a problem 1s called

.8 R Mo SBrped, S0aRTeR) 1HGoumRE T SO GTES etfchmd) 27 beirh?

] - (=9
Options :

55213180985.



Field Study
58 wrahIo

Diagnostic study
Qpderd)S ofiddso
55213180986. '

Action study

écge‘j\;é Slwijeusinlel
55213180987.

Pilot study

S00LRY edhio
55213180988.

Question Number : 148 Question Id : 55213120615 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
ICSSR stands for
ICSSR % Htred8 2580 d&?

—

Options:
Indian Council for Survey and Research

208008 TS HB 0: wol 53G)

55213180989.

Indian Council for Strategic Research

2080 TS $5 (pewss O1G)
55213180990.

55213180991.



Indian Council for Social Science Research

208C5H8 T J q.-E oEheToi] & mD‘

=. =
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International Council for Social Science Research

2o TS $6 PP 2T §38)
55213180992.

Question Number : 149 Question Id : 55213120616 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

When a hypothesis 1s stated negatively it is called

Boerd)Sanre DB THFPIRD aoP HedRRDH?

Options:
Relational Hypothesis
RODOTFL TR0
55213180093, o7 Y EFES
Situational Hypothesis
53%&9 TRPHR
55213180994.
Null Hypothesis
N PP
55213180995.
Casual Hypothesis
oSS TRERAR
55213180996.

Question Number : 150 Question Id : 55213120617 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Assertion (A): Objectivity is the soul of social science research.
D8FUN (A): 088 Rrires Ty ICRAREY @éééod";&
Reason (R): Lackofobjectivity leads to bias, falsification and misleading conclusions m research.
3 R): el o9 S0 A5erd @%@ P58 D0 Eaptd Stgéeaaé:: CP@G'E;@OC;.

o
o

Options
Both (A) and (R) are correct and (R) 1s the correct explanation of (A).
(A) s00cw (R) Botir ausdp s00dim (R), (A) B S0G@o Dddes
55213180997. o =
Both (A) and (R) are correct. but (R) 1s not the correct explanation of (A).
(A) S00aiw (R) Botse aifp, =0 (R), (A) S JS0DS D58 =0
55213180998.
(A)1s true, but (R) 1s false.
55213180999, M) &5 T (R) 8p

(A)1s false. but (R) is true.

(A) 88p, == (R) a5y
55213181000.



